Trig 7.5 *“Will not do these

Solve trig equations algebraically and graphically

—Soive-trignequatities*—
principal values _‘r% %

specific range

certain quadrants

all values (+360n or +2pi*n)
—X verify (identities)

solve (equations)

graphing calculators p. 458
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Strategies:

Use parking lot to get all same function

Factoretc. (alg 2)

Use zero product property ( X ) = iy
Which quadrant(s)?

Default radians (unless degrees is specified)
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Principal values

(depends on which function)
sin

cos

tan



QF, CTS, factor...
zero product property

%D L 50 LTJ g e
) 5y 185,228
S’\Zé eacsh?éuatlon f’ ZIT 7'77‘ 27~ §:'/'T
30.(2sinx — D2cos’x—1)=0 31. 4 sin? x+1——4sln1 _9 &
J \ ¥ | _—_l-\rz-_
. V\ —_— - f
Q-S\nx,-lzo &cmzx- 1= 5 CosX N 3
XSinne] aws“k |
o o | >

Sinx =2 -bN
X 2 >



Yinw Hfsinx 2 | = ©

. sl
S1aX = 1

(4 210 $30

X



+ 2pi*n

Solve each equation for all real values of x.
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Graphing calc (make sure plots are OFF)

2x+ 3

CALC menu

X2=2x+3
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Check calculator mode (radians)...window
Turn plots OFF

GRAPHING CALCULATOR EXPLORATION

Some trigonometric equations and WHAT DO YOU THINK?

inequalities are difficult or impossible to 4. What do the values in Exercise 3
solve with only algebraic methods. A represent? How could you verify this
graphing calculator is helpful in such cases. conjecture?

5. Graphy =2cosx — sinxfor0 =x = 2.

a. How could you use the graph to solve
the equation sin x = 2 cos x? How does
this solution compare with those found

2. tan 0.5x = cos x for — - In Exercise 37
3. Use the CALC menu to find the Intersection b. What equation would you use to apply
point(s) of the graphs in Exercises 1 and 2. this method to tan 0.5x = cos x?

lez.sim( Yy, = LCO8X

5. What happens when they are equal?



Graphing calc

Solve each equation graphically on the interval 0 = x < 2.
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52.tanx = 0.5 B3.sinx —+=10 54. cosx =3sinx
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